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No XTEEH—F Bf fdl | No XD —F
1 PV AS5 (%) vs AREARE) 10:20 1 BEFHR) 0 vs 1 ALt ()
2 | EFAKE>Y) vs AFHEBMNE) | 1030 | 2 F2TS3RER) 2 vs 0 DYRSU(#%)
3 AREARE) vs AEFHGER) | 1040 | 3 e 1 th (BR) 1 vs 2 | EFAKXKEVY)
4 AFHBNE) vs FOJSR(FK) | 1050 | 4 PYRSU(R) 0 vs 0 BEFHER)
5 AREAGD vs EFAREL)| 11:00 | 5 Je R () 0 vs 1 K295 ()
6 FFHET(F) vs DUYRZU@) | 11:10 | 6 REFHR) 1 vs 4 | EFAKXREVY)
7 e (%) vs AHBMNE) | 11:20 | 7 AR ERGE) 1 vs 5 K295 ()
8 DVRSU(%) vs EFAKREVD)| 11:30 | 8 AEFHGR) 0 vs 5 K295 ()
9 AR EAEH) vs AFHBEME) | 11140 | 9 e () 1 vs 1 PYRSU(#R)
10 |[&FAXRE>D) vs ROFSR(ER) | 1150 | 10 | BEFHEB) 1 vs 2 BN E)
12:00 | 11 A1t (BR) 2 vs 0 AREAGE)
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7')('%?’ 2-4 | 0-0 | 1-1 | 0o—=1 | 0-3 | o0—2 | 2 3 | 11| -8 | 6
7"}(5%'5’5‘ 4—2 3-0 | 0-2 | 4—0 | 1-0 | 1-5 | 12 | 13 | 9 | 4 | 2
E(—:-g,ﬁ 0—0 0—3 0—1 1—4 1—2 0—5 1 2 15 -13 1
:lm('g’;m 1-1 | 2-0 | 1-0 1—2 | o—=1 | o=1 | 7 | 5 | 5 | 0o | 5
%fj%jf 1-0 | 0—4 | 4-1 | 2-1 1—2 | 1—2 | 9 | 9 | 6 | 3 | 4
'ﬂ(%}’%’ﬁ' 3-0 | 0—1 | 2—1 | 1-0 | 2—1 o—1 | 12 | 7 | 4 | 3 | 3
FO73R 2—0 | 5=1 | 5=0 | 1-0 | 2—-1 | 1-0 18 | 16 | 2 | 14 | 1
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